LOT COVERAGE EXAMPLE SHEET

Lot Coverage Formula = Total sq. ft of building / Total sq. ft. of Lot

(WxL) (WxL)
Example:
Lot
A
Building
80 sq. ft. ?
30 sq.
v <4— 65sq.ft. —p
44— 130sq. ft. >

Lot= 130" x 80’ = 10,400 sq. ft

Building = 65” x 30” = 1,950 sq. ft.

Lot Coverage = 1,950/ 10,400 sq. ft. = 0.1875
Lot Coverage = 18.75 %

Any additional buildings would also need to be added

Example:

Lot
A
Bui]ding Accessorv
? 25 sq. ft.
80 sq. ft.
30 sq. ft.
¢ S
15 sq. ft.
v <4— 65sq.ft. —p
<4+—— 130sq.ft. >

Lot= 130" x 80’ = 10,400 sq. ft

Building = 65” x 30” = 1,950 sq. ft.

Accessory =25’ x 15° =375 sq. ft

Total Building Space = 1,950 + 375 = 2,325
Lot Coverage = 2,325/ 10,400 sq. ft. = 0.2236
Lot Coverage = 22.36 %
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